Creative Playthings-

50545-555
GLIDER BRACKET PACK

PARTS

GLIDER BRACKETS

~N

(This package is for use with Premium Pine and
Classic Pine swing beams. The Premium Pine

4 14186-400  Glider Bracket beam is shown in the illustrations.
50395-705 Hardware. Glider Fasteners
8 12002-207 Flat Washer, 3/8"
4 12017-207  Lock Washer, 3/8"
4 17003-1413 Hex Bolt, 3/8 x 3-1/2"
4 17003-1813 Hex Bolt, 3/8 x 4-1/2"
4 12052-107  Nylock Nut, 3/8"
8 12002-206  Flat Washer, 5/16" Glider Brackets
8 17036-602 Lag Screw, 5/16 x 1-1/2"
. J
—\ tSee i.nstruction _for the gym
o which the Swing Beam is
‘ ’ mounted for special safety
. . information regarding required
Flat Washor 3/8" Lock Washer 3/8"  Lock Nut 3/8 o ) space, resilient ground cover,
at Washer 5/16
— etc.
Hex Bolt 3/8 x 3-1/2" \mw
All hardware on this set
— is specially coated for
corrosion resistance.
Hex Bolt 3/8 x 4-1/2" \mmmm If non-Creative Playthings
] hardware is used, it MUST
— be galvanized or stainless
DUDDDLLLLLLLIIY Lag Screw 5116 x 1-172" steel.
| W

”Remove Bolts \

STEP ONE - Prepare for Installation

If this is a new installation, do not install the pair

of Swing Hangers closest to the Legs of the

Swing Beam. If the Swing Hangers are already
installed, remove them.

Find the two pair of Bolts above the Swing

Hanger positions nearest the Legs. Remove
the four Hex Bolts and associated washers and
weld nuts.




ASSEMBLY INSTRUCTIONS

STEP TWO - Drill Holes 4 h
On one side of the beam, align the top holes

of a Glider Bracket with two of the holes Drill 3/16"

where Bolts were removed in the previous Dia. Holes

step. Mark the position of the lower holes of
the Glider Bracket on the Beam. Do the same

with another Glider Bracket and the other pair

of holes.

SHIRN
[~

o)
Drill 3/16" diameter holes 1-1/2" into the

Beam at the marks. )

Turn the Beam over. Mark and drill the beam & $ © ©
in the same manner.

STEP THREE - Fasten Glider Brackets

Fasten the Gliders Brackets to the Beam As-
sembly using two 3/8 x 4-1/2" Hex Bolts*,
four 3/8 Flat Washers, and two Nylock Nuts
for each pair of Brackets, in the upper holes
as shown. Use one 5/16 x 1-1/2" Lag Screw
with one 5/16 Flat Washer for each of the
eight remaining lower holes.

~N

* Use 3/8 x 3-1/2" Bolts for the Classic Pine
Beam.

STEP FOUR - Hang Swings

Hang the Back-to-Back Glider by hooking the
chain in the snap hooks on the Glider Hang-
ers. Follow the special assembly instructions
included for the Back-to-Back Glider.

U.S. safety standards require a minimum
clearance of 8" from the bottom of each
Swing Accessory to the ground. U.K. (& E.U.)
safety standards require a minimum clear-
ance of 350mm (13-3/4") between the bottom
of each Swing Accessory and the ground.

;\

The height of each Swing Accessory is ad-
justed by using a different link in the chain.
Be sure to hang the Swings Accessories with
ground clearance greater than or equal to the
safety standard for your region.

. J

Glider Bracket Pack
ﬁ © Copyright 2014, Creative Playthings. Printed in U.S.A.
19919-100 Rev A (09-14)




